
Pag: 
01

 
 
 
 

Playhouse Paris 
Spielhaus Paris 
Speelhuis Parijs

MANUFACTURER: Prestige-Garden  /  EMAIL: prestige-garden.eu  /  The Netherlands

EAN: 8719325289107

GEBRUIKER
Geplaatste afbeelding

GEBRUIKER
Geplaatste afbeelding

GEBRUIKER
Geplaatste afbeelding

GEBRUIKER
Geplaatste afbeelding

GEBRUIKER
Geplaatste afbeelding



1 
 
2 

 3
  

4 
 5

 Pag: 
02

2 - hours / Stunde / Uur

FOR ALL SCREWS WE ADVISE TO
PRE-DRILL HOLES! 

BITTE VORBOHREN!

SCHROEFGATEN VOORBOREN!

2582

1
3
9
3

1
0
9
0

2554

2554

2324

2
3
1
6

2
2
2
7

1
4
3
7

2630

2582

2
7
8
0

2630

FRONT 
VORNE 
AANZICH T

RECHTER SEITENWAND 
RECHTSE ZIJDE

RIGHT SIDE

 
 

LEFT SIDE
LINKER SEITENWAND
LINKER AANZICHT

BACK
HINTENSEITE 
ACHTERZIJDE

GÓRA / TOP



Pag: 
03

790

2
1
4
2

836

2
1
4
2

1127

1
4
3
0

1
4
3
0

1207

1
4
3
0

1127

1
4
3
0

1217

9

6

0

4
5
7

330

4
5
7

4
6
5

5

5

 

x

 

5

5

5

4

5

4

zoom 4x

540

1
0
9
6

3

0

3

4

100

5
7
3

190

136

140

5
7
9

561

505

5
2
0

1
0
0
0

2600

150

M1   x2

M2 x2

M3 x1

M4 x1

M5 x1

M6 x1

M7 x2
M8 x1

M9 x3

M10 x4

M11 x2

M12 x1

M13 x1

M14 x12
M15 x2

M16 x3

M17 x3

M18 x3

6

0



Pag: 
04

N1 x1
N2 x1

N3 x1
N4 x1

5
0
0

186

180

3

3

0

194

5
0
0

181

5
0
0

6

9

5

1

1

5

115

101

4

9

7

101

4

9

7

87

P1 x3

P2 x6

P3 x3

P4 x3

9

5

2

3

0

0

1

9

R1 x26

3

5

x

3

5

2

5

7

0

R2 x5

5

5

x

5

5

1

1

4

5

S1 x2

8

0

S2 x2

5

8

5

1

5

7

0

0

4

7

1
2

S3 x2

6

3

0

3

5

x

3

5

S4 x1

530

7

0

0

4

7

S5 x2

8

0

1
5

1

3

0

0

T1 x4

1

3

0

0

3

5

2

0

T2 x4

2

6

0

0

5

0

2

6

T3 x2

2

2

3

0

3

5

x

3

5

T4 x2

2

6

0

0

5
4

T5 x1

1

1

8

0

9

7

T6 x56

1

1

8

0

8

4

T7 x2

T8 x2

1

1

8

0

8

0



Pag: 
05

x 208Z1  2 x 13 mm

x 213Z2  3,5 x 50 mm

x 53Z3  3,5 x 60 mm

x 16Z4  3 x 20 mm

x 166Z5  3 x 25 mm

x 88Z6  3 x 30 mm

x 18Z7  3 x 35 mm

x 20Z8 4 x 60 mm

x 10Z8  4 x 70 mm

x   2Z10

x   2Z11



DETAIL

SCALE 1 / 8

DETAIL V

SCALE 1 /10

Pag: 
06

R1 x 26

R2 x 5

2
5
7
0

1
8
0
5

7
6
5

2300

Board Floor 
Boden 
Vloer

Board terrace
Boden Terrasse
Vloer terras / veranda

35

35

35

35

35

2
5
7
0

531 531 531 531

R1 x 26

2300

3

4

4

9

3

4

4

9

9
5

14

R2  x 5 

(R1)

(R2)

(R1)

(R2)



DETAIL U

SCALE 0,08 : 1

DETAIL

SCALE 1 / 5

DETAIL

SCALE 1/5

DETAIL 

SCALE 1/5

DETAIL

SCALE 1/5

DETAIL

SCALE 1/5

DETAIL

SCALE 1 /10

U

Pag: 
07

Z2 x 182

Z2  x 182 (26 x 7)

(R2)

(R1)

 For All R1 Elements Use
Z2 x 7 pcs
Für alle R1 Elemente bitte Z2 
x 7 Stück brauchen
Voor alle R1 elementen Z2 x 
7 stuks gebruiken

Z2

 

Z2

Z2

Z2

 

Z2



DETAIL

SCALE 0,2 : 1

DETAIL Y

SCALE 0,20 : 1

DETAIL

SCALE 0,2 : 1

Pag: 
08

M5 x 1

M6 x 1

Z3 x 4

M5 x1

M6 x1

(M5)

(M6) 

Z3

Z3

Z3



DETAIL 

SCALE 1 / 15

DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,2 : 1

DETAIL 

SCALE 0,2 : 1

Pag: 
09

Z2 x 6

(M5) x1

(M6) x1

(M5) 

(M6) 

Z2

Z2

Z2

Z2

Z2

Z2



DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,1 : 1

DETAIL CJ

SCALE 0,06 : 1

DETAIL CK

SCALE 0,06 : 1

DETAIL

SCALE 0,06 : 1

CJ

CK

90°

M2 x 1

Z3 x 4

 
Pag: 1

0

(M5)

(M6) 

(M5)

Z3

Z3

Z3

Z3

(M5)

(M6)

(M2)

(M5)

(M2)

(M2)

(M6)

(M5)

(M5)

(M2)

(M2)

M2 x 1



DETAIL

SCALE 0,13 : 1

DETAIL

SCALE 0,26 : 1

DETAIL

SCALE 0,26 : 1

DETAIL

SCALE 0,26 : 1

Pag: 
11

Z3 x 3

Z3

Z3

Z3

(M2)



DETAIL 

SCALE 0,2 : 1

DETAIL

SCALE 0,2 : 1

DETAIL 

SCALE 0,2 : 1

DETAIL CM

SCALE 0,1 : 1

CM

Pag: 
12

M1 x 1

Z3 x 4

90°

(M2)

(M6) 

(M5)

(M1)

(M6) 

M1 x 1

Z3

Z3

Z3

(M1)

(M5)

(M6)

(M2)

(M6)

(M1)



DETAIL AF

SCALE 0,13 : 1

DETAIL 

SCALE 0,26 : 1

DETAIL

SCALE 0,25 : 1

DETAIL

SCALE 0,26 : 1

AF

Pag: 
13

Z3 x 3

(M1)

Z3

Z3

Z3

(M6)



DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,2 : 1

Pag: 
14

M2 x 1

Z3 x 6

(M2)

(M2)

(M6) 

(M5)

(M1)

M2

(M1)

Z3

Z3

Z3



DETAIL

SCALE 0,13 : 1

DETAIL 

SCALE 0,26 : 1

DETAIL

SCALE 0,26 : 1

DETAIL

SCALE 0,26 : 1

   

Z3 x 3

Pag: 
15

(M2)

(M2)

(M1)

Z3 x 3



DETAIL

SCALE 0,2 : 1

DETAIL

SCALE 0,13 : 1

DETAIL

SCALE 0,13 : 1

DETAIL

SCALE 0,13 : 1

DETAIL

SCALE 0,13 : 1

DETAIL

SCALE 0,13 : 1

M1 x 1

Z3 x 6

 
Pag: 1

6

(M2)

(M1)

(M2)

(M5)

M1

Z3 x 6



DETAIL

SCALE 0,13 : 1

DETAIL 

SCALE 0,26 : 1

Z3 x 3

 
Pag: 1

7

M1

Z3 x 3



DETAIL

SCALE 1 / 4

DETAIL 

SCALE 1 / 4

M3 x 1

M4 x 1

Z2 x 6

Z3 x 9

 Pag: 1
8

(M1)

(M2)

M3

M4

Z2 x 6

Z3 x 9

M4

M3



DETAIL AH

SCALE 1 / 2

DETAIL AJ

SCALE 1 / 2

DETAIL AK

SCALE 1 / 2

AH

AJ

AK

T3 x 2

T5 x 1

 
Pag: 1

9

T3

T3

T5

T5

T4

T4

T4

T4

T5

T3

T5

T3



DETAIL

SCALE 1 / 2

DETAIL AM

SCALE 1 /12

DETAIL

SCALE 1 / 3

DETAIL CN

SCALE 1 /6

DETAIL

SCALE 1 / 6

DETAIL

SCALE 1 / 6

DETAIL

SCALE 1 / 6

AM

CN

Z3 x 8

 

Pag: 2
0

Z8 x 2

T5

T4

T4

(T3)

T5

T4

T4

Z3 x 4

 For left and right side
Für Linker und Rechter Seite
Voor links en rechts

T5

Z9

T5

Z8 x 2

(T5)

(T5)

(T3)



DETAIL

SCALE 1 / 3

DETAIL BU

SCALE 1 / 4

BU

Pag: 
21

T4 x 2

Z8 x 4

T4

T4

(T4)

Z8

(T4)

Z8



DETAIL AR

SCALE 1 / 10

DETAIL AU

SCALE 1 / 8

AR

AU

M11 x 2

M15 x 2

M10 x 4

Z5 x 8

 

Pag: 2
2

Installation place outside
Draußen montieren
Aan buitenzijde monteren

Installation place inside 
Innen montieren
Aan binnenzijde monteren

M15 + M11

inside / Innen / Binnen

M10

M10

M10

 

Z5

Z5

 

Repeat 2x: For left and right side
Wiederholen 2x: Linker und Rechter Seite
Herhalen 2x: voor linker- en 
rechterzijde.

For left and right side
Vor Linker und Rechter Seite 
Voor linker- en rechter zijde

M10

 

M15 + M11

Inside / Innen / 
Binnen



DETAIL AW

SCALE 1 / 10

DETAIL AY

SCALE 1 / 2

DETAIL CP

SCALE 1/18

DETAIL CR

SCALE 1/18

DETAIL DF

SCALE 1 / 10

DETAIL DH

SCALE 1 / 2

AW

AY

CP

CR

DF

DH

M16 x 3

M17 x 3

Z6 x 12

 Pag: 2
3

Z6 x4

 For 3 Windows
Für 3 Fenster
Voor 3 ramen

View outside
Aussen Ansicht
Buiten aanzicht

M16

M16

Z6 x4

 Mount from outside
Draußen montieren
Aan buitenzijde monteren

The view from the inside
Die Ansicht von innen
Binnen-aanzicht



DETAIL AV

SCALE 1 /12

AV

M14 x 12

Z5 x 24

Pag: 24  

T5

T5

T5

T5

M14

M14

M16

 For 3 window
Für 3 Fenster
Voor 3 Ramen

Z5

outside / Draußen / Buiten 



DETAIL BA

SCALE 1 / 10

BA

P1 x 3

P2 x 6

P3 x 3

P4 x 3

Z6 x 42

Pag:25  

OUTSIDE

P1

P2

P4

P3

Z6

 
 For 3 Part

Für 3 Teile
Voor 3 delen

Z6

Z6

Z6

Z6

Z6

Z6

 P1 x1 + P2 x2 + P3 x1 + P4                                

      For 3 window / Für 3 Fenster / Voor 3 ramen

outside / Draußen / Buiten 

Z6

Z6

Z6

Z6

Z6

Z6

Z6

P2



DETAIL BB

SCALE 1 / 10

DETAIL BC

SCALE 1 / 10

DETAIL BD

SCALE 1 / 10

BB

BC

BD

Z5 x 12

Pag: 26

inside / Innen / Binnen

 For 3 part
Für 3 Teile
Voor 3 delen

Z5
Z5

Z5
Z5

Z7

outside / Draußen / Buiten

P1 x1 + P2 x2 + 

P3 x1 + P4 x1



DETAIL

SCALE 1 / 4

DETAIL 

SCALE 1 / 8

T6 x 56

T7 x 2

T8 x 2

Pag: 
27

T7

T7

T8

T8

T6 x 28

T6 x 28

 

T7

T6

T8

 

T8

 

T6



DETAIL BF

SCALE 1 / 16

DETAIL BH

SCALE 1 / 16

BF

BH

 

Z5 x 120

Pag: 
28

T8

T6

T6 x 28

T6 x 28

T8

T8

T7

T7

Z5

Z5

 

Side 2 / Seite 2 / Zijde 2

Side 1 / Seite 1 / Zijde 1



DETAIL

SCALE 1 / 4

DETAIL 

SCALE 1 / 4

M19 x 2

Pag: 
29

10

M19

M19

M19

M19

Roofing felt / Dachpappe / Dakleer



DETAIL

SCALE 1 / 4

M19 x 2

Pag: 30

M19 

(M19)

M19

(M19)

On the top 
Auf der Oberseite
Boven op nok plaatsen

10

M19 

M19
On the top
Auf der Oberseite Boven 
op nok plaatsen

Under 
Unten 
Er onder



DETAIL CF

SCALE 1 / 8

Z1 x 168

Pag: 
31

 Z1 84 x 2 nails / 
Nägel Dachpappe / 
Dakleer-nagels    
14x 6

]

1

9

0

.

0

0

1

8

0

.

0

0

Z1



DETAIL BJ

SCALE 1 / 16

DETAIL BK

SCALE 1 / 16

DETAIL

SCALE 1 / 2

DETAIL BL

SCALE 1 / 8

DETAIL CT

SCALE 1 / 4

DETAIL CU

SCALE 1 / 8

DETAIL DD

SCALE 1 / 8

DETAIL DE

SCALE 1 / 8

BJ

BK

BL

CT

CU

DD

DE

 

T1 x 4

Z6 x 8

T2 x 4

Z6 x 8

Pag: 32

For left and rigth side
Für Linker und Rechter Seite 
Voor linker- en rechter zijde

T1

Z6

Z6

Z6

Z6

For front and back side
Für Vorne- und Hinten Seite
Voor voor- en achterkant

T2 T2

Z6

Z6

T1

T1

T1

 

Z6

Z6

T1



DETAIL BM

SCALE 1 /16

DETAIL

SCALE 1 / 4

DETAIL

SCALE 1 / 4

DETAIL

SCALE 1 / 8

BM

M12 x 1

M13 x 1

Z6 x 2

Pag: 
33

Z10 x 2

Z5 x 10

Strona/side A Strona/side B

M12

M13

 

Z6

Z10

Z4

13

1
3

13

(M12)



S1 x 2

S2 x 2

S3 x 2

S4 x 1

S5 x 2

Pag: 
34

S2

S5

S5

S2

S1

S1

S4

S3

S3

Please prepare:
Bitte vorbereiten:
S.v.p. voorbereiden:



DETAIL

SCALE 1 / 2

DETAIL 

SCALE 1 / 4

DETAIL

SCALE 1 / 4

DETAIL 

SCALE 1 / 4

DETAIL

SCALE 1 / 4

S1 x 2

S4 x 1

S5 x 2

Z6 x 4 

Z8 x 4

Pag: 
35

Z9

Z9

RIGHT

SIDE

LEFT

SIDE

Z6

Z6

Z2

Z2

Z2

Z2

Z9

Z9

Z9

Z9

Z8

Z8Z8

Z8

Z6

 

 

Z6

S1

S1

S5

S5

S4



DETAIL

SCALE 1 / 2

DETAIL BY

SCALE 0,10 : 1

DETAIL CA

SCALE 1 / 5

BY

Pag: 
36

M17 x 1

Z1 x 40

1

0

1

6

0

.

0

0

1

6

0

.

0

0

M17

Z1

I

II

M17



DETAIL BP

SCALE 1 / 12

DETAIL

SCALE 1 / 6

DETAIL

SCALE 1 /6

DETAIL

SCALE 1 /6

DETAIL

SCALE 1 /6

DETAIL

SCALE 1 /6

DETAIL

SCALE 1 /6

BP

Z6 x 4

Pag: 
37

 Mount screw from inside
Schrauben von Innen montieren
Schroeven van binnenuit bevestigen

Z6

Z6

Z6

Correct screw position only
Nur auf diese Position schrauben
Alleen op deze positie schroeven



DETAIL

SCALE 1 / 2

Z11 x 2

Z4 x 16

Pag: 
38

Z11

Z4

For 2 parts
Für 2 Teile
Voor 2 Delen



DETAIL

SCALE 1 / 2

DETAIL

SCALE 1 / 4

DETAIL

SCALE 1 / 4

DETAIL

SCALE 1 / 4

DETAIL CV

SCALE 1 / 4

DETAIL CW

SCALE 1 / 4

CV

CW

S2 x 2

S3 x 2

Z6 x 8

Pag: 39

(S2)

(S2)

Z6 (x8)

S2

S2

(M19)

(M18)

(S2)

(S2)

S3

S3

S2

S2

(M18)

S3

S3

Z6

Z6

S2

S3

S2



M7 x 2

M8 x 1

M9 x 3

Pag: 40

M7

M7

M8

M9

M9

M9

(M7)

(M7)

(M9)

(M9)

(M8)

(M9)

 Left
Links
Links

 Right
Rechts
Rechts

 Left
Links
Links

 Right
Rechts
Rechts

Front
Vorne 
Voorzijde

Front
Vorne 
Voorzijde



DETAIL BR

SCALE 0,10 : 1

DETAIL BT

SCALE 0,12 : 1

DETAIL

SCALE 1 / 4

DETAIL

SCALE 1 / 4

DETAIL

SCALE 1 / 4

DETAIL

SCALE 1 / 4

DETAIL

SCALE 1 / 4

BR

BT

Z2 x 14

Pag: 41

[Z2 x7]

[Z2 x7]

M9

M9

M9

M8

M7

M7

M9

 

 Left and  right
Links und Rechts
Links en rechts

LEFT

RIGHT

(M7)

(M9)

Z2 

 Front
Vorne 
Voorzijde

FRONT

SIDE

M9

M9

M7

M7

For left and right side 
Für Linker und Rechter Seite
Voor linker- en rechterzijde



DETAIL CY

SCALE 0,12 : 1

DETAIL

SCALE 0,24 : 1

DETAIL

SCALE 0,24 : 1

DETAIL

SCALE 0,24 : 1

DETAIL

SCALE 0,24 : 1

DETAIL

SCALE 0,24 : 1

CY

Pag: 
42

Z2 x 5

M9

M9

(M7)

M8

Front
Vorne
Voorzijde

 

(M9)

M9

(M7)

(M7)

M8

M9

Z2 



N1 x 1

N2 x 1

N3 x 1

N4 x 1

Z7 X 12

Pag:43

N1

N2

N3

N4

Z7

Z7

Z7

Z7

Z7



DETAIL

SCALE 1 / 10

DETAIL CG

SCALE 1 / 10

DETAIL CH

SCALE 1 / 2

DETAIL DA

SCALE 1 / 4

DETAIL DB

SCALE 1 / 4

DETAIL DC

SCALE 1 / 8

CG

CH

DA

DB

DC

Z7 x 6

Pag: 44

45 degrees angle
45 Grad Winkel 
45 graden hoek

Z7 

Z7

Z7

Z7

 

Z7



Declaration of Conformity:

1. Article number: EAN: 8719325289107

2. Manufacturer:                                Prestige-Garden
                                                           Stationsstraat 38
                                                           3881 AD Putten
                                                           The Netherlands

3. This declaration of conformity is issued under the sole responsibility of the 
manufacturer:
                                                           Prestige-Garden
                                                           Stationsstraat 38
                                                           3881 AD Putten
                                                           The Netherlands

4. Object of declaration:                    Playhouse / Spielhaus / Speelhuis                                    
                                                           Name: Paris / Paris / Parijs

5. References to the relevant harmonised standards used or references to the 
specifications in relation to which conformity is declared:

                                                                  EN71 Part 1:2014
                                                                  EN71 Part 2:2011 + A1:2014
                                                                  EN71 Part 3:2013 + A1:2014 

6. Signed for and on Behalf of Prestige-Garden

Putten, 04th of May 2018
J. de Bruin

MANUFACTURER: Prestige-Garden / EMAIL: prestige-garden.eu  /  The Netherlands

GEBRUIKER
Geplaatste afbeelding

GEBRUIKER
Geplaatste afbeelding



Declaration of Conformity:

1. Article number: EAN: 8719325289107

2. Manufacturer:                                Prestige-Garden
                                                           Stationsstraat 38
                                                           3881 AD Putten
                                                           The Netherlands

3. This declaration of conformity is issued under the sole responsibility of the 
manufacturer:
                                                           Prestige-Garden
                                                           Stationsstraat 38
                                                           3881 AD Putten
                                                           The Netherlands

4. Object of declaration:                    Playhouse / Spielhaus / Speelhuis                                    
                                                           Name: Paris / Paris / Parijs

5. References to the relevant harmonised standards used or references to the 
specifications in relation to which conformity is declared:

                                                                  EN71 Part 1:2014
                                                                  EN71 Part 2:2011 + A1:2014
                                                                  EN71 Part 3:2013 + A1:2014 

6. Signed for and on Behalf of Prestige-Garden

Putten, 04th of May 2018
J. de Bruin

MANUFACTURER: Prestige-Garden / EMAIL: prestige-garden.eu  /  The Netherlands

GEBRUIKER
Geplaatste afbeelding

GEBRUIKER
Geplaatste afbeelding


	Geen titel


s, Garden




0-3








Cj%/ ~;>









